Missing Numbers in Equations (A)

16 +n=2

j+=1=6

s+1=2

z+5=4

40 +1r=>5

20+ f=4

r=+=7=1

24 +a=3

16 -d=4

Find the value of each unknown.

16 -d=2

r+4=6

15+t=5

42 -n=6

z+4=9

54 +-c=9

28 +-k=7

12 +t=2

j+9=8

54 +x=9

35+-n=5

v+-6=8

25+-x=5
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Missing Numbers in Equations (A) Answers

Find the value of each unknown.

16 +n=2 16 -d=2 54 +-c=9 k+-3=8
n=238 d=28 c=6 k=24
j+=1=6 r+~4=6 m-+=9=1 j+3=8
j=6 r=24 m=9 j=24
+~1= 5+a=1 28 +-k=7 g+—6=4
=2 a=>5 k=4 g =24
z+5=4 15+t=5 p+3=3 v+-6=28
z=20 =3 p=9 v =48
40+r=>5 b+6=5 12 +t=2 =7
r=28 b =30 =6 r=1
20+-f =4 42 ~n=6 j+9=8 4+ f=2
f=5 n=7 j=72 f=2
r+7= m-+7=5 54 +-x=9 f+2=8
r=7 m =35 =6 f=16
24 +-a=73 5+-w=1 ~t=2 25+x=5
a=28 w=5 t=4 x=5
16 -d=4 z+4=9 f+2=3 d=2=5
d=4 z=136 f= d=10
p+1=5 b+-8=9 35+=n=5 j=5=6
p=>5 b=72 n=7 j=30
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